in the spacs
folfowing ele

, 2 ] ey
1) sodium i3 22Zs Zp “ 35{ =TI
2y won /57 25 % Z2pb 35T Bp6 45 D y
[ - - o =y = 7% ; Z
| 3 bromines J[5% 252 Z,/’) ¢ 35 %Ipé qé 3357”07/7 W
3 B 7 ST G s & oz e 6= =
4) barium Js? 25276 357306 4325/ 4p 55 4A7T 57 s -
. 27 6, 7 2z ol b — b 5 &y Y g IO E s
5) neptunium /5587 0p 3573 fs* 3/ Y p 5Lty S s® ‘/;fJf’ a e Bp
752 S F
in the space below, write the abbroviaied electron configurations of the following
elemenis:
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Determine what elements are denoted by the following electron configurations:
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Determine which of the following electron configurations arlid:
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